Whitman College

Econ 358

February 19, 2008

Exam 1

Show all of your work.  The exam ends at 2:20.

1. (5pts)  Define an income statement.

(b)  (5pts)  Provide an example of an income statement, using accounting data for a hypothetical company.  

2.   Consider Fisher’s simple savings model, as described in class.  This is a two-period pure exchange economy with one non-durable and divisible consumption good at each date.  There are many non-identical consumers endowed with quantities of the goods, and nothing else.  Suppose the market interest rate is r=0.2.  A particular consumer, Kay, has an endowment of 20 units of the date 1 good, and 20 units of the date 2 good.  

(a) (10pts) Write the equation of Kay's budget line.  Graph Kay's budget line, on the graph paper provided.  Label the axes on your graph and label the point that represent Kay’s endowments. Label (with their numerical values) the intercepts for this budget line.  

(b) (10pts)  At Kay’s consumer equilibrium, she borrows 5 units of the date 1 good. What quantities does Kay consume at each date?  On your graph from part (a), indicate the amounts Kay consumes at each date, and indicate the indifference curve Kay reaches when she consumes these quantities.  

Kay has the opportunity to undertake an investment project which requires spending 10 units of the date 1 good and provides benefits of 15 units of the date 2 good.

(c)  (5pts)  On your graph from above, show Kay's new budget line if she undertakes the project.  Label (with their numerical values) the intercepts for this budget line.  

(d)  (10pts)  On your graph, indicate the net present value of the project.  Should Kay undertake this project?  Explain.

(e)  (5pts)  On your graph, indicate the indifference curve Kay would reach if she took the project.

3.  Consider a home-owner, Holly, who took out a mortgage from First National Bank at a fixed rate of 6%.   She has 18 years of annual payments remaining, the first of which is due one year from now.  Each payment is $21,150.  

(a) (10pts)  If Holly were to completely pay off her mortgage right now, how much would she pay?

Suppose First National Bank knows that Holly’s home is considerably more valuable now than it was 12 years ago, when she took out her mortgage.  The bank contacts Holly and suggests that she might like to take advantage of her increased home value by spending more right now, perhaps on some nice new furniture, or a much-deserved vacation.  If she would agree to keep making her annual $21,150 mortgage payments for an extra 10 years, the bank would lend her $50,000 right now.   (Note that if Holly accepts, she would be agreeing to make 10 annual payments that start 19 years from now.)

(b) (10pts)  Holly wonders, if she were to accept the offer, what interest rate she would be paying on the $50,000 loan.  Write an equation that Holly could use to solve for the interest rate on this $50,000 loan.  Be as explicit as possible in your equation.

(c) (15pts)  If the current market interest rate is 6% and Holly does intend to borrow $50,000 right now, should she accept the bank’s offer?  Explain your work.

4.  Consider Frank Partnoy’s FIASCO: The Inside Story of a Wall Street Trader.

(a) (5pts)  What are Principal Exchange Rate Linked Securities (PERLS)?
(b)  (5pts)  Why does Partnoy call some buyers of PERLS “cheaters” (p. 56)?

(c)  (5pts)  Why does Partnoy call some buyers of PERLS “widows and orphans” (p. 56)?
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